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QUESTION 1

Action Type identifies the type of business process associated with an action and determines what 

happens when you select that Action. As part of implementing Oracle Global Human Resources Cloud, 

Action Types are associated with Actions. 

Which two statements are correct regarding Action types? (Choose two.) 

A. Additional Action types can be created. 

B. An Action type cannot be associated with user-defined actions. 

C. Action types are seeded. 

D. Every Action type can have multiple actions within it. 

E. If Termination is an action, Normal Termination is an action type. 

Correct Answer: CD 

 

QUESTION 2

As an implementation consultant, you are in the process of building the enterprise structure. Which three facts about
Legislative Data Group must you be aware of? (Choose three.) 

A. Legislative Data Group supports the configuration of objects with a strong legislative context, such as payroll,
absence types, elements, and rates of pay. 

B. Legislative Data Groups do not span enterprises. 

C. Legislative Data Groups can span enterprises. 

D. It is required to associate country and currency details while defining Legislative Data Group. 

E. Each Legislative Data Group can contain only one legal entity that acts as a payroll statutory unit. 

Correct Answer: ABD 

 

QUESTION 3

Your customer is hiring an employee and assigning a line manager to the newly hired employee. What group of people
can be selected in the instance as an employee\\'s line manager? 

A. The line manager search is based on the public person security access. 

B. The line manager search is based on the job in which the employee is hired; only the job grade higher than the
employee job will appear in this list. 

C. The line manager search is based on the position hierarchy. Therefore, if an employee is hired in a particular
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position, the search will populate employees with a higher position than the newly hired 

employee. 

D. All the employees whose employment record has the "Working as Manager" check box marked as "Yes" can appear
in the drop-down list. 

Correct Answer: C 

 

QUESTION 4

A static approval group named "Trio" comprises three members ?Jacob, Susan, and Dia (in the mentioned order). For
all the Manage Employment transactions, the approval should be routed to the "Trio" approval group. When the
assignment change transaction is submitted, what is the order in which these members receive the assignment change
approval notification? 

A. System decides the approval route by randomly selecting approvers who are a part of the approval group. 

B. First Approver -Dia, Second Approver - Susan, Third Approval -Jacob 

C. All three get the notification at the same time. 

D. First Approver -Jacob, Second Approver -Susan, Third Approver -Dia 

E. The approval is routed alphabetically. 

Correct Answer: D 

 

QUESTION 5

As an HR Specialist it is your responsibility to hire employees and enter their base salary information. After 

you selected a grade and salary basis, and entered the base salary, you expected to see the compa-ratio 

information display - but it does not. 

What is the possible cause for the information NOT displaying? 

A. The grade rate and the salary basis are tied to different frequencies. 

B. The grade rate was not linked to the salary basis. 

C. The grade and the salary basis are tied to different legislative data groups. 

D. The grade rate and the salary basis are tied to different legislative data groups. 

Correct Answer: D 
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